KEY HS 67 Exam 2 
1. 1a) Quantitative

2. 1b) Categorical

3. 2a) 10,000 ± (2)(1600) = 6,800 to 13,200
4. 2b) 2.5%
5. 2c) z = (5,000 -  10,000) / 1600 = 3.125 = -3.13
6. Pr(Z < −3.13) = .0009 = 0.09% (You get the same answer if you use z = 3.12)

7. 2d) z = (14,500 – 10,000) / 1600 = 2.81
8. Pr(Z > 2.81) = 1 - .9975 = .0025 = 0.25%

9. 3a) Fluoride level
10. 3a) Cavity rates per 100

11. 3c) Linear

12. 3d) Negative association

13. 3e) Strong

14. 3f) No outliers

15. 3g) Slope b = r ∙sy / sx = (−.942)(138.591)/.2128 = -613.5

16. 3h) Intercept a = y-bar − (b)(x-bar) = 637.89 – (-613.5)(0.256) = 637.89  - -157.056 = 794.9
17. 3i) The regression equation is y-hat = 794.9 + -613.5x
18.  3j) 613.5  

19.  3k) r2 = −.9422 =  .887 or 88.7%
20.  4a) 669 / 8562 = 0.078 = 7.8%

21.  4b) 362 / 8562 = 0.042 = 4.2%

22. 4c) Low stress: 103 / 3127 = 0.033 = 3.3%

23.        Interm stress: 205 / 4766 = 0.043 = 4.3%

24.        High stress: 54 / 669 = 0.081 = 8.1%

25.  4d) There is a positive association between stress level and heart attack rates in this sample
26.  5a) Table
	
	Both schools combined

	
	Admit
	Deny

	Male
	490
	210

	Female
	280
	300


27.  5b) Males: 490 / (490 + 210) = .700 = 70.0% 
28.  5c) Females: 280 / 580 = .483 = 48.3%

29.  5d) Answer must address lurking variable school applied to and …

30.  males were more likely to apply to the business school, which had a higher acceptance rate. 
C:\Users\gerstman\Documents\HS067\exam2-f09-KEY.doc
Page 1 of 1

